
1. Draw one line of symmetry on each of these shapes.

Reasoning

Grammar and punctuations

5. Mum asks Sara to share 35 sweets equally within 5 
children.
How many sweets will Sara give to each child? 
Write the calculation you would use to find the answer.

+       4    =    44

67       - 18   =   

6 + 9   + 7   =  

22 - 2   - 10 =  

¾  of  48   = 

½  of  22   =  

2 X     9  =  

÷ 4 =   7     

Spellings

Arithmetic

1. Hurry
2. Sure
3. Drink
4. Likes
5. Flour

Write the missing punctuation mark to complete the 
sentence below.

Can you play my favourite tune

Draw lines to match the groups of words that have 
the same meaning.

www.themumeducates.com

2. The bird takes three-quarter turn anti-clockwise. 
Tick the box which shows the direction of bird faces after turn

I will

It is

did not

didn’t

I’ll

It’s

4. Tick number sentence that is correct.

32 < 44 18+0 = 18

84 < 25                             52 < 23


